VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

ROUTER INSTRUCTION MANUAL

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support




®
VEVOR

TOUGH TOOLS, HALF PRICE

MODEL:5120

WARNING:
For your personal safety, READ and UNDERSTAND before using.
SAVE THESE INSTRUCTIONS FOR FUTURE REFERENCE.

@DOUBLE INSULATIO

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to

contact us:
Technical Support and E-Warranty Certificate

www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.


mailto:CustomerService@vevor.com

Warning-To reduce the risk of injury, user must read
instructions manual carefully.

This device complies with Part 15 of the FCC Rules. Operation is
subject to the following two conditions:(1)This device may not cause
harmful interference, and (2)this device must accept any interference
received, including interference that may cause undesired operation.

This product is subject to the provision of European Directive
2012/19/EC. The symbol showing a wheelie bin crossed
through indicates that the product requires separate refuse
collection in the European Union. This applies to the product
and all accessories marked with this symbol. Products marked
as such may not be discarded with normal domestic waste, but
must be taken to a collection point for recycling electrical and
electronic devices




GENERAL SAFETY RULES

WARNING! Read all instructions. Failure to follow all instructions listed
below may result in electric shock, fire and/or serious injury. The term
"power tool" in all of the warnings listed below refers to your
mains-operated (corded) power tool or battery-operated (cordless) power
tool.

SAVE THESE INSTRUCTIONS

The term "power tool" in the warnings refers to your mains-operated
(corded) power tool or battery-operated (cordless) power tool.

Work area safety

1.Keep work area clean and well-lit. Cluttered and dark areas invite
accidents.

2.Do not operate power tools in explosive atmospheres, such as in the
presence of flammable liquids, gases or dust. Power tools create sparks
that may ignite the dust or fumes.

3.Keep children and bystanders away while operating a power tool.
Distractions can cause you to lose control.

Electrical Safety

4.Power tool plugs must match the outlet. Never modify the plug in any way.
Do not use any adapter plugs with earthed (grounded) power tools.
Unmodified plugs and matching outlets will reduce risk of electric shock.

5.Avoid body contact with earthed or grounded surfaces such as pipes,
radiators, ranges and refrigerators. There is an increased risk of electric
shock if your body is earthed or grounded.

6.Do not expose power tools to rain or wet conditions. Water entering a
power tool will increase the risk of electric shock.

-3-



7.Do not abuse the cord. Never use the cord for carrying, pulling or
unplugging the power tool. Keep cord away from heat, oil, sharp edges or
moving parts. Damaged or entangled cords increase the risk of electric
shock.

8.When operating a power tool outdoors, use an extension cord suitable
for outdoor use. Use of a cord suitable for outdoor use reduces the risk of
electric shock.

Personal Safety

9.Stay alert, watch what you are doing and use common sense when
operating a power tool. Do not use a power tool while you are tired or
under the influence of drugs, alcohol or medication. A moment of
inattention while operating power tools may result in serious personal
injury.

10.Use safety equipment. Always wear eye protection. Safety equipment
such as dust mask, non-skid safety shoes, hard hats, or hearing protection
used for appropriate conditions will reduce personal injuries.

11.Avoid accidental starting. Ensure the switch is in the off-position before
plugging it in. Carrying power tools with your finger on the switch or
plugging in power tools that have the switch on invites accidents.
12.Remove any adjusting key or wrench before turning the power tool on. A
wrench or a key left attached to a rotating part of the power tool may result
in personal injury.

13.Do not overreach. Keep proper footing and balance at all times. This
enables better control of the power tool in unexpected situations.

14.Dress properly. Do not wear loose clothing or jewellery. Keep your hair,
clothing, and gloves away from moving parts. Loose clothes, jewellery or
long hair can be caught in moving parts.

15.If devices are provided for the connection of dust extraction and
collection facilities, ensure these are connected and properly used. Use of
these devices can reduce dust-related hazards.



Power tool use and care

16.Do not force the power tool. Use the correct power tool for your
application. The correct power tool will do the job better and safer at the
rate for which it was designed.

17.Do not use the power tool if the switch does not turn on and off. Any
power tool that cannot be controlled with the switch is dangerous and must
be repaired.

18.Disconnect the plug from the power source and/or the battery pack from
the power tool before making any adjustments, changing accessories, or
storing power tools. Such preventive safety measures reduce the risk of
starting the power tool accidentally.

19.Store idle power tools out of the reach of children and do not allow
persons unfamiliar with the power tool or these instructions to operate the
power tool. Power tools are dangerous in the hands of untrained users.
20.Maintain power tools. Check for misalignment or binding of moving
parts, breakage of parts and any other condition that may affect the power
tools operation. If damaged, have the power tool repaired before use.
Many accidents are caused by poorly maintained power tools.

21.Keep cutting tools sharp and clean. Properly maintained cutting tools
with sharp cutting edges are less likely to bind and are easier to control.
22.Use the power tool, accessories and tool bits, etc. in accordance with
these instructions and in the manner intended for the particular type of
power tool, taking into account the working conditions and the work to be
performed. Use of the power tool for operations different from those
intended could result in a hazardous situation.

SERVICE

23.Have your power tool serviced by a qualified repair person using only
identical replacement parts. This will ensure that the safety of the power
tool is maintained.

24 Follow instruction for lubricating and changing accessories.

25.Keep handles dry, clean and free from oil and grease.

-5-



USE PROPER EXTENSION CORD. Make sure your extension cord is in
good condition. When using an extension cord, be sure to use one heavy
enough to carry the current your product will draw. An undersized cord will
cause a drop in line voltage resulting in loss of power and overheating.
Table 1 shows the correct size to use depending on cord length and
nameplate ampere rating. If in doubt, use the next heavier gage. The
smaller the gage number, the heavier the cord.

Table 1: Minimum gage for cord

) Volts Total length of cord in feet
Ampere Rating
120V | 25¢t | 50ft | 100t | 150 ft.
More Than | Not More Than AWG

0 6 18 16 16 14

10 18 16 14 12

10 12 16 16 14 12

Not
12 16 14 12
Recommended
SPECIFIC SAFETY RULES

DO NOT let comfort or familiarity with product(gained from repeated
use) replace strict adherence to router safety rules. If you use this
tool unsafely or incorrectly, you can suffer serious personal injury.

1. Hold power tools by insulated gripping surfaces when performing an
operation where the cutting tool may contact hidden wiring or its own cord.
Contact with a "live" wire will make exposed metal parts of the tool "live"
and shock the operator.

2. Use clamps or another practical way to secure and support the
workpiece to a stable platform. Holding the work by hand or against your
body leaves it unstable and may lead to loss of control.

3.Wear hearing protection during extended periods of operation.
-6 -



4.Handle the bits very carefully.

5.Check the bit carefully for cracks or damage before operation. Replace
cracked or damaged bits immediately.

6.Avoid cutting nails. Inspect for and remove all nails from the workpiece
before operation.

7.Hold the tool firmly with both hands.

Keep hands away from rotating parts.

9.Make sure the bit is not contacting the workpiece before the switch is
turned on.

10.Before using the tool on an actual workpiece, let it run for a while. Watch
for vibration or wobbling that could indicate improperly installed bit.

11.Be careful of the bit rotating direction and the feed direction.

12.Do not leave the tool running. Operate the tool only when hand-held.
13.Always switch off and wait for the bit to come to a complete stop before
removing the tool from workpiece.

14.Do not touch the bit immediately after operation; it may be extremely hot
and could burn your skin.

15.Do not smear the tool base carelessly with thinner, gasoline, oil or the
like. They may cause cracks in the tool base.

16.Draw attention to the need to use cutters of the correct shank diameter
and which are suitable for the speed of the tool.

17.Some material contains chemicals that may be toxic. Take caution to
prevent dust inhalation and skin contact. Follow material supplier safety
data.

18.Always use the correct dust mask/respirator for the material and
application you are working with.

SAVE THESE INSTRUCTIONS.

WARNING:

&MISUSE or failure to follow the safety rules stated in this

instruction manual may cause serious personal injury.



SYMBOLS

The followings show the symbols used for tool.

V Volts

A Amperes

Hz Hertz

N\ Alternating current

nO No load speed
O Class Il Construction
... /min Revolutions or reciprocation per
r/min minute




SPECIFICATIONS

Model 5120
Ratings AC120V 60 Hz 15A
Maximum Power 3.25HP*+10%
Collet Chuck Capacity 1/4" or 1/2"
Plunge Capacity 0-50 mm
No Load Speed 12000-23000RPM
Net Weight 5.5kg

® Due to our continuing programme of research and development, the
specifications herein are subject to change without notice.
® Note: Specifications may differ from country to country.

ACCESSORIES

/ @@ g ¥ >\-.

PART NO. DESCRIPTION QTY
1 Wrench 1
2 Guide Holder 1
3 1/4” Collet Cone Set 1
4 Dust Nozzle 1
5 Butterfly Bolt 1
6 Straight Guide 1




ACAUTION

These accessories or attachments are recommended for use with your tool
specified in the manual. The use of any other accessories or attachments
might present a risk of injury to persons. Only use accessory or attachment
for this stated purpose. If you need any assistance with more details
regarding these accessories, ask your local service center.

FUNCTIONAL DESCRIPTION

ACAUTION:
® Always be sure that the tool is switched off and unplugged before
adjusting or checking function on the tool.

Adjusting the depth of cut
< = i 1. Adjusting knob

2. Lock lever

3. Stopper pole

4. Fast-feed button

5. Stopper block

Place the tool on a flat surface. Loosen the lock lever and lower the tool
body until the bit just touches the flat surface. Tighten the lock lever to lock
the tool body.

Turn the stopper pole setting nut counterclockwise. Lower the stopper pole
until it makes contact with the adjusting bolt. Align the depth pointer with
the "0" graduation. The depth of cut is indicated on the scale by the depth
pointer.

While pressing the fast-feed button, raise the stopper pole until the desired
depth of cut is obtained. Minute depth adjustments can be obtained by
turning the adjusting knob (1 mm (3/64") per turn).

By turning the stopper pole setting nut clockwise, you can fasten the
stopper pole firmly.

Now, your predetermined depth of cut can be obtained by loosening the

-10 -



lock lever and then lowering the tool body until the stopper pole makes
contact with the adjusting hex bolt of the stopper block.

Stopper block

1. Stopper pole
2. Adjusting bolt
3. Stopper block

The stopper block has three adjusting hex bolts that raise or lower 0.8 mm
(1/32") per turn. You can easily obtain three different depths of cut using
these adjusting hex bolts without readjusting the stopper pole.

Adjust the lowest hex bolt to obtain the deepest depth of cut, following the
method of "Adjusting depth of cut". Adjust the two remaining hex bolts to
obtain shallower depths of cut. The differences in height of these hex bolts
are equal to the differences in depths of cut.

To adjust the hex bolts, turn the hex bolts with a screwdriver or wrench.
The stopper block is also convenient for making three passes with
progressively deeper bit settings when cutting deep grooves.

/N CAUTION:

® Since excessive cutting may cause overload of the motor or difficulty in
controlling the tool, the depth of cut should not be more than 15 mm
(19/32") at a pass when cutting grooves with an 8 mm (5/16") diameter
bit.

® \When cutting grooves with a 20 mm (13/16") diameter bit, the depth of
cut should not be more than 5 mm (3/16") at a pass.

® For extra-deep grooving operations, make two or three passes with
progressively deeper bit settings.

-1 -



Switch action

/\CAUTION:

Before plugging in the tool, always check to see that the switch trigger
actuates properly and returns to the "OFF" position when released

® Make sure that the shaft lock is released before the switch is turned
on.

® To prevent the switch trigger from being accidentally pulled, a lock
button is provided.

® To start the tool, depress the lock button and pull the switch trigger.
Release the switch trigger to stop.

® For continuous operation, pull the switch trigger and then depress the
lock button further. To stop the tool, pull the switch trigger so that the
lock button returns automatically. Then release the switch trigger.

® After releasing the switch trigger, the lock-off function works to prevent
the switch trigger from being pulled.

/\CAUTION:

® Hold the tool firmly when turning off the tool, to overcome the reaction.

Electronic function

Constant speed control

Possible to get fine finish, because the rotating speed is kept
constantly even under the loaded condition.

Additionally, when the load on the tool exceeds admissible levels,
power to the motor is reduced to protect the motor from overheating.
When the load returns to admissible levels, the tool will operate as
normal.

-12-



Soft start feature

® Soft start because of suppressed starting shock.
® Speed adjusting dial
&= Speed adjusting dial

ACAUTION:

® Before plugging in the tool, always check to see that the switch trigger
actuates properly and returns to the "OFF" position when released

® The tool speed can be changed by turning the speed adjusting dial to a
given number setting from 1 to 6

® Higher speed is obtained when the dial is turned in the direction of
number 6. And lower speed is obtained when it is turned in the
direction of number 1.

ACAUTION:

If the tool is operated continuously at low speeds for a long time, the motor

will get overloaded, resulting in tool malfunction.

The speed adjusting dial can be turned only as far as 6 and back to 1. Do

not force it past 6 or 1, or the speed adjusting function may no longer work.

-13-



ASSEMBLY

ACAUTION:

® Always be sure that the tool is switched off and unplugged before
carrying out any work on the tool

Installing or removing the bit

1. Shaft lock

2. Wrench

ACAUTION:

® |[nstall the bit securely. Always use only the wrench provided with the
tool. A loose or overtightened bit can be dangerous.

® Use always a collet that is suitable for the shank diameter of the bit.

® Do not tighten the collet nut without inserting a bit or install small shank
bits without using a collet sleeve. Either can lead to breakage of the
collet cone.

® Use only router bits of which the maximum speed, as indicated on the
bit, does exceed the maximum speed of the router.

Insert the bit all the way into the collet cone. Press the shaft lock to keep

the shaft stationary and use the wrench to tighten the collet nut securely.

When using router bits with smaller shank diameter, first insert the

appropriate collet sleeve into the collet cone, then install the bit as

described above.

To remove the bit, follow the installation procedure in reverse.

-14 -



OPERATION

ACAUTION:

® Before operation, always make sure that the tool body automatically
rises to the upper limit and the bit does not protrude from the tool base
when the lock lever is loosened.

® Before operation, always make sure that the chip deflector is installed
properly.

Always use both grips and firmly hold the tool by both grips during

operations.

Set the tool base on the workpiece to be cut without the bit making any

contact. Then turn the tool on and wait until the bit attains full speed. Lower

the tool body and move the tool forward over the workpiece surface,

keeping the tool base flush and advancing smoothly until the cutting is

complete.

When doing edge cutting, the workpiece surface should be on the left side

of the bit in the feed direction.

Workpiece

Bit revolving direction

View from the top of the tool
Feed direction

2
< D>
W&_L 4
STT7777 %
3

B wnh =

NOTE:

® Moving the tool forward too fast may cause a poor quality of cut, or
damage to the bit or motor. Moving the tool forward too slowly may
burn and mar the cut. The proper feed rate will depend on the bit size,
the kind of workpiece and depth of cut. Before beginning the cut on the
actual workpiece, it is advisable to make a sample cut on a piece of
scrap lumber. This will show exactly how the cut will look as well as
enable you to check dimensions.

® \When using the straight guide or the trimmer guide, be sure to install it
on the right side in the feed direction. This will help to keep it flush with
the side of the workpiece.

-15-



1~

Straight guide

B wnh =

Feed direction

Bit revolving direction
Workpiece

Straight guide

Fine adjusting screw
Guide holder
Straight guide
Clamping screw (B)
Clamping screw (A)

ok owd -~

The straight guide is effectively used for straight cuts when chamfering or

grooving.

Install the straight guide on the guide holder with the clamping screw (B).
Insert the guide holder into the holes in the tool base and tighten the
clamping screw (A). To adjust the distance between the bit and the straight
guide, loosen the clamping screw (B) and turn the fine adjusting screw (1.5
mm or about 1/16" per turn). At the desired distance, tighten the clamping
screw (B) to secure the straight guide in place.

Templet guide (optional accessory)

-16 -



The templet guide provides a sleeve through which the bit passes, allowing
use of the tool with templet patterns. To install the templet guide, pull the
lock plate lever and insert the templet guide.

1. Template guide

2. Lock plate

When cutting, move the tool with the guide roller riding the side of the
workpiece.

Bit

Base

Templet

Workpiece

Distance (X)

Outside diameter of the templet
5 guide

Templet guide

oo bk owh=~

NOTE:

® The workpiece will be cut a slightly different size from the templet.
Allow for the distance (X) between the bit and the outside of the
templet guide. The distance (X) can be calculated by using the
following equation:Distance (X) = (outside diameter of the templet
guide - bit diameter) / 2

Trimmer guide (optional accessory)

Trimming, curved cuts in veneers for furniture and the like can be done
easily with the trimmer guide. The guide roller rides the curve and assures
a fine cut.

Install the trimmer guide on the guide holder with the clamping screw (B).
Insert the guide holder into the holes in the tool base and tighten the
clamping screw (A). To adjust the distance between the bit and the trimmer

-17 -



guide, loosen the clamping screw (B) and turn the fine adjusting screw (1.5
mm or 1/16" per turn). When adjusting the guide roller up or down, loosen
the clamping screw (C). After adjusting, tighten all the clamping screws
securely.

Guide holder
Adjusting screw
Clamping screw (B)
Clamping screw (C)
Trimmer guide
Clamping screw (A)

oo bk owh~

When cutting, move the tool with the guide roller riding the side of the
workpiece.

3 ] 1. Bit
777777777&77/'7 2. Guide roller

2 3.  Workpiece
N\ i

Dust nozzle set (Accessory)

1. Dust nozzle
2. Clamping screw

-18 -



Use the dust nozzle for dust extraction. Install the dust nozzle on the tool
base using the thumb screw so that protrusion on the dust nozzle fit to the
notch in the tool base.

Then connect a vacuum cleaner to the dust nozzle.

-19-



MAINTENANCE

ACAUTION:

AAlways be sure that the tool is switched off and unplugged before
attempting to perform inspection or maintenance.

Replacing carbon brush

MWW)Q)[W 1.Limit mark
/o

Remove and check the carbon brushes regularly. Replace them when they
wear down to the limit mark. Keep the carbon brushes clean and free to
slip into the holders. Both carbon brushes should be replaced at the same
time. Use only identical carbon brushes.

Use a screwdriver to remove the brush holder caps. Take out the worn
carbon brushes, insert the new ones and secure the brush holder caps.

1. Brush holder cap
2. Screwdriver

After replacing brushes, plug in the tool and break in brushes by running
tool with no load or about 10 minutes. Then check the tool while running
and electric brake operation when releasing the switch trigger. If electric
brake is not working well, ask your local service center for repair.

-20-



-21-



PART

NO DESCRIPTION SIZE QTY
1 COLLET CONE SET 1/2" 1
2 | SCREW ST5X22 4
3 | HALF NUT ©14X19 1
4 | COMP.SPRING II ©14X@1.2X18 2
5 | TAPPING SCREW ST4X16 12
6 | KNOB COVER(L) 1
7 | SCREW M5X18 4
8 | KNOB(L) 1
9 | MOTOR BRAKET 1
10 | KNOB(N) 1
11 | KNOB COVER(N) 1
12 | SWITCH 1
13 | STRAIN RELIEF 1
14 | CORD GUARD 1
15 | CORD 1
16 | CAP 1
17 | RETAINING RING ®12 1
18 | PIN 1
19 | COMP.SPRING | ©8X90.8X16 4
20 | SCREW M5X10 3
21 | LOCK LEVER 1
22 | SETBOLT 1
23 | SPRING 1
24 | BALL BEARING 6004 2RS 1
25 | BEARING COVER 1
26 | SCREW M4X10 2
27 | ARMATURE 1
28 | BALL BEARING 6200 2RS 1
29 | WAVE WASHER ©29 1

-22 -




PART

NO DESCRIPTION SIZE QTY
30 BAFFLE PLATE 1
31 STATOR 1
32 SCREW M10X80 1
33 SCREW 2
34 BAFFLE 1
35 SPEED CONTROL 1
COVER
36 SPEED CONTROL 1
37 INSERT 1
38 SCALE LABEL 1
39 MAIN HOUSING 1
40 REAR COVER 1
41 NAME PLATE 1
42 BRUSH HOLDER 1
43 CARBON BRUSH 6.5x13.5x16 1
44 CAP OF THE BRUSH 1
HOLDER
45 SCREW M8 1
46 STOPPER 1
47 CHIP DEFLECTOR 1
48 THUMB SCREW M5X10 1
49 SCREW M5X10 4
50 KNOB M10Xp16X12 1
51 NYLON NUT 1
52 COMP.SPRING @15Xp1.6X228 1
53 LONG GUIDE PILLAR 1
54 COMP.SPRING 1
55 THUMB SCREW M5X16 4
56 SHORT GUIDE PILLAR | ¢20X125 1
1

57

BASE

-23.-




58 ELASTIC ROUND PIN P5X25 2

59 BASE PLATE 1

60

61 GUI HOLDER 1

62

63 BUTTERFLY BOLT M6X10 2

64 STRAIGHT GUIDE 1

65 DUST NOZZLE 1
1

66

WRENCH 24

-24 -







VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

